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Question: 1

Which transport mode uses the VMware vSphere Hot-Add feature to attach the virtual disks of a source VM to
the backup proxy VM?

A. Network

B. vPower

C. Virtual Appliance
D. Direct SAN access
E. Direct NFS access

Answer: C

Question: 2

A customer has a physical proxy configured for Direct Storage Access without failover to network mode. The
backup fails. What could be the issue?

A. The disks being processed are IDE and/or SATA

B. The datastores are properly zoned and exposed to the proxy server but in read-only mode

C. The storage is not added into the storage infrastructure, inside the backup and replication console
D. Write access has not been enabled on the SAN

E. One or more of the VM disk(s) are on Wols

Answer: E

Question: 3

Which of the following statements regarding bottleneck statistics is true?
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A. The percentages displayed will always add up to 100% in total.

B. The bottleneck statistics are only displayed when you have a problem in your backup infrastructure.

C. Bottleneck statistics can show the following states: Source/Proxy/Network/Source WAN Accelerator/Target
WAN Accelerator/Target/None

D. Bottleneck statistics can show the following states: Source/Ptoxy/Network/Source WAN Accelerator/Target
WAN Accelerator/Target

Answer: A

Question: 4

Which of the following Veeam Backup & Replication jobs can utilize storage snapshots on VMware vSphere?
Choose two options.

A. Replication
B. Backup copy
C. VeeamZIP
D. Backup

E. Tape

F. VM copy

Answer: A,D

Question: 5

To suppress Veeam ONE alarms under specific conditions or when a specific event occurs, which of these options
can be selected? (Choose three.)

A. High CPU usage

B. Veeam backup activity

C. Snapshot creation

D. Storage snapshot deletion
E. Storage snapshot creation
F. Snapshot deletion

Answer: B,C,F
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Question: 6

The advanced installation scenario requires installing the Veeam ONE Server component (server part) on one
machine and installing the Veeam ONE Web Ul component (client part) on another machine.

A. True
B. False

Answer: A

Question: 7

The backup administrator configured replication for a VM from Data Center 1 to Data Center 2, which runs every
day at 1 a.m. A power surge takes out Data Center 1 at 7 a.m. and the administrator fails over the

replica at 8 a.m. When the power comes back on, the administrator performs the “failback” action at 2 p.m. and
checks the state of the original VM. They recognize that not all data is available. What is missing?

A. Data from 1a.m.to 7 a.m.
B. Data from 1 a.m. to 2 p.m.
C. Data from 8 a.m.to 2 p.m.
D. Data from 7 a.m. to 8 a.m.

Answer: A

Explanation

https://helpcenterveeam.com/docs/backup/vsphere/failback.html?ver=100



